
25 62-12188



26 62-12188



360360 370370 380380

5050 300300 310310

10.110.1

10.110.1

10.210.2

10.410.4

10.610.6

10.710.7

10.810.8

10.1010.10
10.1110.11

10.1210.12

10.1310.13

10.1510.15

10.910.9

90908080

610610 630630

340340
330330

1010

10.510.5

10.1510.15

10.1510.15

10.1510.15

27 62-12188



5050 160160 280280 290290 420420

5050 160160 280280 420420 460460
130130

140140 180180

190190

270270

250250

4040 5050 606030302020

120120110110

4004003903907070

160160

90908080

120120

160160
160160 170170 260260

220220 230230 240240

200200 410410

530530 510510
520520

500500

510510

560560

550550

540540

470470 480480

490490

130130140140

440440
430430

650650

28 62-12188



29 62-12188



30 62-12188



5050
1010

5050

2020

3030 4040

31 62-12188



5050 160160 280280 290290 420420

5050 160160 280280 420420 460460
130130

140140 180180

190190

270270

250250

4040 5050 606030302020

120120110110

4004003903907070

160160

90908080

120120

160160
160160 170170 260260

220220 230230 240240

200200 410410

530530 510510
520520

500500

510510

560560

550550

540540

470470 480480

490490

130130140140

440440
430430

650650

32 62-12188



10 110 1

10 210 2

10 310 3

10 410 4

10 510 5

10 610 6

10 710 7

10 810 8

10 110 1

10 310 3

10 310 3

10 310 3

10 310 3

10 310 3

10 310 31010

4040

2020

3030

10 910 9

10 1110 11

10 310 3 10 1210 12

33 62-12188



10 79-60908-01 Frame Assembly, NDTP 1
10.1 86-61483-01 Chassis Assembly, NDTP 1

10.1.1 67-60992-00 Tube, Rectangle, 60 x 40 x 3mm 1
10.1.2 67-60993-00 Tube, Rectangle, 60 x 40 x 3mm 1
10.1.3 67-60994-00 Tube, Rectangle, 80 x 40 x 3mm 1
10.1.4 67-60995-00 Tube, Rectangle, 80 x 40 x 3mm 1
10.1.5 67-60996-00 Support, Frame, 3mm Thick 1
10.1.6 67-60997-00 Support, Frame, 3mm Thick 1
10.1.7 67-60998-00 Tube, Rectangle, 60 x 40 x 3mm 1
10.1.8 67-60999-00 Tube, Rectangle, 40 x 40 x 3mm 1
10.1.9 67-61005-00 Tube, Rectangle, 60 x 40 x 3mm 1

10.1.10 67-61006-00 Tube, Rectangle, 60 x 40 x 3mm 1
10.1.11 67-61007-00 Panel, Bottom, 2mm Thick 1
10.1.12 67-61008-00 Panel, Top, 2mm Thick 1
10.1.13 67-61009-01 Support, Comp, 5mm Thick 1
10.1.14 67-61010-00 Support, 2mm Thick 1
10.1.15 67-61011-00 Support, Rear, 5mm Thick 1
10.1.16 67-61012-00 Support, Front, 4mm Thick 1
10.1.17 67-61013-00 Support, Bottom, 5mm Thick 1
10.1.18 68-71003-00 Support, Frame, 3mm Thick 1
10.1.19 68-71004-00 Support, Frame, 3mm Thick 1
10.1.20 67-61079-00 Support, Cond, NDTP 1
10.1.21 68-71093-00 Support, Cond, NDTP 1
10.1.22 68-71007-00 Support, Evap, 3mm Thick 4
10.1.23 68-71008-00 Tube, Rectangle, 40 x 40 x 3mm 1
10.1.24 68-71009-00 Liftlug, 5mm Thick 1
10.1.25 68-71010-00 Liftlug, 5mm Thick 1
10.1.26 68-71011-00 Gusset, Frame, 4mm Thick 1
10.1.27 68-71012-00 Support, Cond, 3mm Thick 2
10.1.28 48-60538-00 Spacer, 34mm, 16mm 4
10.1.29 67-61025-00 Angle, 2mm Thick 1
10.1.30 34-60338-15 Stud, Weld, M6 x 15 1
10.1.31 68-71053-00 Support, 3mm Thick 1
10.1.32 68-71091-00 Brace, NDTP 1
10.1.33 68-71089-00 Angle, NDTP 1
10.1.34 68-71090-00 Angle, NDTP 1
10.1.35 68-71092-01 Gusset, NDTP 2
10.1.36 34-00876-30 Screw, Cap, Hex Head, M8 x 30mm, 1.18 1
10.1.37 68-71120-00 Plug, Tube, NDTP 1

10.2 58-60612-00 Protector, Tube, Rectangle, 60 x 40 5
10.3 34-60068-20 Screw, Captive Washer, M6 x 20mm 22
10.4 44-60117-00 Receptacle, EPDM 1
10.5 67-61053-00 Bracket, NDTP 1
10.6 67-61051-00 Bracket, 2mm Thick 1
10.7 67-61050-00 Support, Skin, 2mm Thick 2
10.8 67-61052-00 Bracket, 2mm Thick 2

34 62-12188



10.9
67-61092-00 Support, NDTP 1

10.1 67-61133-01 Bracket, Tube 1
10.11 67-61132-00 Support Channel, 2mm Thick 1
10.12 67-61157-00 Support, Hinge 3

20 67-61114-01 Bracket, Support 1
30 34-00873-65 Screw, Cap, Hex Head, M10 x 65mm, 2.56 Long 2
40 34-60085-10 Washer, Conical, M10 x 22 2
60 68-71128-00 Bracket, 4mm Thick 1
70 42-00183-00 Trim, Flexible, Fine Pebble-Black 0.17

35 62-12188



1010 5050 6060

40.140.1

40.240.2

30.130.1

30.230.2

140140 150150

55 130130

160160

3030

4040

8080 100100 110110

160160

90907070 8080 180180

130130

170170

2020

36 62-12188



37 62-12188



38 62-12188



39 62-12188



40 62-12188



1010

4040

2020

3030

50506060 6060 6060 3030 6060

41 62-12188



42 62-12188



43 62-12188



44 62-12188



45 62-12188



46 62-12188



47 62-12188



55

48 62-12188





©202  Carrier Corporation. Printed in USA 

Carrier, Carrier Transicold is a registered trademark of Carrier Corporation.

North America

Carrier Transicold

700 Olympic Drive

Athens, GA 30601 USA

Central America and Mexico

Carrier Transicold

Ejercito Nacional 253-A Piso 5

Colonia Anahuac 11320 Mexico D.F.

 WARNING: Breathing diesel engine exhaust exposes you to 
chemicals known to the State of California to cause cancer and birth 
defects or other reproductive harm.

• Always start and operate engine in a well-ventilated area.
• If in an enclosed area, vent the exhaust to the outside.
• Do not modify or tamper with the exhaust system.
• Do not idle the engine except as necessary.

For more information, go to www.P65warnings.ca.gov/diesel


